VT - LT 4 — AR

2012.03. 11
N AME 7T)h 1 |GROSS| HDCP NET R AN K
WH EFE 43 46 80  22.5 66.5 (& B
A #HE 45 51 96 | 25.2 70.8 = #H{EHE
E FE 41 43 84 | 11.7 72.3 341
&AX EBih 45 39 84 | 10.8 73.2 Az
EE M 45 40 85 | 10.8 74.2 Yivi
TE A 43 42 85 | 10.8 74.2 641
= MM 40 39 79 3.6 75.4 141
Kl IE 43 4 84 8.1 75.9 81z
AR BAF 42 | 43 85 9.0/ 76.0 94z
e ER 45 46 91 14.4 76.6 10z
HE R 43 40 83 6.3 76.7 1141
h¥ A a1 M 85 8.1 76.9 124iz
=F BX 40 4 81 3.6 77.4 134z
M =5 49 43 92 | 14.4 77.6 1441
BRJI BB 46 47 93 | 15.3 | 77.7 1541
faH g 45 42 87 9.0 78.0 1643z
Ek #H 48 43 91 12.6 | 78.4 1741
TF F# 46 43 89 9.9 79.1 184
F OEX 46 44 90 9.9 80.1 194iz
=mHE BT 53 51 104 | 22.5 81.5 2041
WE E# 48 43 91 9.0 82.0 2141
iZE BER 53 56 | 109 | 27.0 82.0 22431
N# Bz 42 M 86 3.6 82.4 23431
FRZE  FERER 49 43 92 9.0 83.0 24431
HL Rk 48 M 92 8.1 83.9 25431
EE &X 53 51 | 104 | 19.8 84.2 26431
izl NI 49 45 94 9.0 85.0 27451
TF #F 54 51 | 105 | 19.8 85.2 28431
=K —i& 54 43 97 | 11.7 85.3 2941




VT - LT 4 — AR

2012.03. 11
N AME Tk 412 |GROSS HDCP | NET | R A N K
FH —ER 48 51 99 11.7 | 87.3 304z
2% — 59 45 104 | 15.3 | 88.7 314z
*x Bfs 53 50 103 | 11.7 ] 91.3 324z
B —X 57 65 122 | 18.9 103.1 334iz
AE B 0 0.0 99.9 N R
=K AR 0 0.0 99.9 N R
A RAHR 0 0.0 99.9 N R
iz - SN 0 0.0 99.9 X I®
FiIEH AT 0 0.0 99.9 X I®
B BB 0 0.0 99.9 X I8




